@b, } ¢ {a, ¢, ¢
@{b, C}¢{av bv f}




D A={o} L™ nA)=1
@B =102 n(8)=0
® C={xlx=129 s} A0, n(C) =

@n({a, b,c}) —n({a,b}) =
® n({0,1,2}) =3

@ B=1{0} € W, n(B) =1
@ n({a,b,c}) — n({a,b}) =




B 4l

ANX=XOE2 XCA

(AnNB)UX=Xo|BE=Z

(AnB)cX

ANB={2,3}

(2,3} c X c{1,2,3,4}

X=1{1,2,3,4} 9 FEAF T ¥4 2,32 2dst= A
A X o Al 22 = 4 7l




M (A-B)UX =X, (AUB)NX=XE

bl 24}

S

® 1070

@ 671

4. FHd
THEsh= 3
A = {xx= 89 &}, B= {xxe 5°]
@s

© 271 @ 474

(A-B)UX=XO°|BE2 (A-B)cX
AUB)NX=X°|B2 X c (AUB),
g 5 94 2

A=1{l, 2, 4, 8,B={1, 3, 5}

—~

{2,4,8} c X c {1,2,3,4,5,8}
e x £ AFAUB o B2




5.

Al A% A, B, ol distedn(A) = 10, n(B) = 8,n(C) = 6 , n(AUB) =
14,n(BUC) =10,AnC=0% o, n(AUBUC)E 5t

> E

> =g 16

B

ANC=0 B2 ANBNC =0

S~ n(ANC)=0, n(ANBNC) =
A5, n(ANB) = n(A)+n(B) e e
)—1o+8—14_4n(Bmc

n(B)+n(C)—n(BUC) =8+6-10=4°|EZ n(AUBUC)
= n(A)+n(B)+n(C)-n(ANB)-n(BNC) —n(CNA)+n(ANBNC)
=10+84+6-4-4-04+0=16




